Artificial Intelegance

) : L | 2 (o] Lo |
X Q = Q < N

At|Q| & At|Q

112 0|10 1]|5] 20| 20 | 59
1 Soxwsgd| 1 (1 0] 5|12 0| 7 | 17
2 dpaiall e i il 1|2 3 [10]| 1|5 0 | 14 | 36
3 D ae Joweledf 1 (2] 0] 0 [2]2] 0| 7 | 12
4 eeredalaae Wl 1 [2f 0] 2 1 [2] 0o | 12| 18
5 sl e sl 1 |2] 2] 9 [1]5] o | 18] 37
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8 Alaendaiel 1|2 0 6 |1|5] 0| 11| 26
9 S bseel 1|2l 0| 0 [12]5] 0 5| 14
10 sodae i M 1 [2f 3 10| 1|5] 10| 17 | 49
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13 pha Jsiedasandl |l 1|2 0| 5 |2[5] 0 | 20 ] 34
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15 O il ae jallae pAles| 112 0 [ 5 | 1|5 0 | 18 | 32
16 ol il ae clisl 1 [2f 0 | 2 [ 1|2 0 | 12 | 18




